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12. Which of the following will show reducing properties?

13.

CH,OH CH,0H

CH,OH CH,OH

o o. OH o 0. OH
OH OH OH OH
OH (o) OH OMe OH
OH OH OH OMe
| I 1

a. I&ll
c. &Il

Which is a correct statement for lactose

a. adisaccharide of galactose and
glucose with a-1-4 glycosidic
linkage

¢. adisaccharide of galactose and
glucose with p-1-4 glycosidic
linkage

I1&I 1
All three

a disaccharide of glucose and
galactose with a-1-4 glycosidic
linkage

a disaccharide of glucose and
galactose with p-1-4 glycosidic
linkage

14. Which of the following statement is not correct

a.  Starch is a mixture of two polymers ~ b.  Amylose is a polymer of glucose
linked by B-1-4 glycosidic linkage
Chitin a polymer of N-acetyl
glucosamine

¢.  Glycogen is an animal sugar d.
structurally similar to amylopectin

15. PEP converts to pyruvate (AG= - 62.5 k] /mol) by coupling with ADP and produce
ATP (AG= +30.5) k] /mol). Choose the correct statement.

a.  The process is exergonic and AG= - b.  The process is exothermic and AH
31.5 k] /mole. =-32.0 k]/mole.
¢.  The process is exergonic and AG= - d.  The process is endergonic and AG=

32.0 k]/ mole. +32.0 k]/mole.

16. Write down the correct X and Y of the following reaction

MgBr
g SH Et,0
+ —_— X+Y

a. X=Ph-CHs b. X =CHsMgBr
Y = PhSMgBr Y = Ph-Ph
c¢. X=Ph-H N rasat
Y = PhSMgBr 0 reaction
17. In Cram’s modification of Wolff-Kishner reaction
a.  DMSO replaced glycol b.  DMF replaced glvcol
¢.  DMA replaced glycol d.  SOCI; replaced glycol
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. Explain why hydrolysis of sucrose is known as inversion of 2x5=10
sucrose?

. Write down conformational structure for

(i) p-methyl maltoside (ii) a-galactose

. Write down the reactions of oxidation of sucrose with periodic

acid.

. Write down the structure of ATP. Why it is considered as the
energy currency of bio-system?

. Complete the following reactions -

MeOH/HCI _

Maltose

. What is Strecker’s synthesis? Write the mechanism of the 3+4+3
following reaction. =10

g NH,CN ﬁz
HsC™ H HaC

. What is transamination? Give the synthesis of alanine from
valine by using this method.

CN

Describe a method for the determination of N-terminal residue
of a polypeptide chain.

. Identify the products (A & B) with explanation. 3+3+4

m _NPhCOCL , DKOH o =10
N© 2)KCN 2) Mel

. Write down the products (C & D) of the following reactions

m
@ 1) "CPBA S PPhy A
N7 2) conc. HNQO;

conc. H,SO4
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